1

Side Track Mount
John Deere 8RX Quad
8RX 310, 8RX 340,
8RX 370, 8RX 410

PRICE LIST
500 gal W/ Tanks
$10,860.00

500 ID: JD-8RXW-21CU-OT-5008

Limitations may apply. Please
consult API Sales at 800-288-1117.

PARTS LIST
ITEM|QTY| PART NUMBER DESCRIPTION
1 2 |10-1895 JD 9000-9RT Saddle Bracket
2 2 |10-1899S JD 8 RT Pan Side Mount
3 1 |10-1893L JD 8RX Side Mount Hook LH
4 1 |10-1893R JD 8RX Side Mount Hook RH
5 2 [10-1905 JD 8RT Tank Straps

BOLT LIST

QTY DESCRIPTION PLASEMENT

16 3/4" X 5" Gd 8 BOLT MOUNT TO TRACTOR
32 | 3/4" HARDENED FLAT WASHER

16 3/4" LOCK WASHER

16 3/4" HEX NUTS

16 1" X 3-1/2" Gd 8 BOLT MOUNT TO SADDLE
16 1" LOCK WASHER

16 1" HEX NUT

16 1/2" x 1-1/2" Gd 5 BOLT PAN TO BRACKET

8 1/2" x 5" Gd 5 BOLT STRAP TO PAN
24 1/2" LOCK WASHER

16 1/2" HEX NUT

*Left Side Shown*

2






